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Uma	fábrica	de	cimento	tem	uma	carga	de	5	toneladas	de	cimento	para	levar	a	

uma	obra.	O	camião	de	transporte	faz	três	viagens	para	entregar	o	cimento	no	

estaleiro.	Na	primeira	viagem,	o	camião	carregado	pesa	4100	kg.	Na	segunda	

viagem,	 o	 camião	 carregado	 pesa	 3400	 kg.	 Na	 terceira	 viagem,	 o	 camião	

carregado	pesa	3800	kg.		

Quanto	pesa	o	camião	de	cimento	vazio?		
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Constrói	o	origami	da	raposa.		

(podes	pedir	ajuda	ao	teu	professor)	

	

	

	

Dobra	ao	meio	

Dobra	pela	linha	a	tracejado	

�Vira	ao	contrário	

�Dobra	pela	linha	a	tracejado	

Desenha	os	olhos	e	o	nariz	e	
está	pronta.	


